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Note: All questions are compulsory. Carrying of mobile phone during examinations wzll :lgg trea?ed dﬁ*:ase of
unfair means.

Q1: a) How does a genetic counselor identify mitochondrial based maternally mhenféd‘fdéafness in a family?

b) What are the guidelines for a genetic counselor for counseling to fam1hes;i‘ SW hlcﬁ an autosomal

3 $,‘g??
dominant Alzheimer disease (AD) gene is a possibility? % & «5";
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¢) 24% of the individuals are recessive homozygous for a certain traltﬂﬁ @opulatlon of 20,500, calculate
the % of homozygous dominant individuals and heterozygou{mﬁfv%uals [2+2+1] | CO2
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(Q2: a) Explain the mechanism of DNA vaccine and its ways of admﬁ{nstratlon

b) What are the steps involved in germ line therapy anﬁarrslgg associated with it? [2.642:8] CO3
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(Q3: a) A man and a woman have been detected asgh%“t
around 3-4 months of age normally butm y%
advise them to enter into matrimony?. Wo
is already married? Justify your answ

b) Migraine is dominant to the n@rmaL 0

_ ozygous for a lethal genetic disorder that cause death
Iayed to nearly 2 years in some rare cases. Would you
u'recommend them to have children if the couple in case
ivifg suitable reasons.

1t16n and gene responsible is autosomal. A couple’s all the 5
children, 2 girls and 3 boys, suffer fr‘@m mlgrame One of the girl is married the normal man and wishes
to ascertain the chance§ of her chlldren also suffering from the condition. How will you guide her?

h Y [2:5+2,5] CO2
Q4: a) What are the funetrl%ons an& requlrements of genetic counselor? How does he proceed to do his work?

Can he predwﬁanytﬁmg with certainty?

b) On what con31der§t10ns would you infer whether a glven dlsorder was due to a rare dommant or a rare

[2.5+2.5] COl

QS a Cenduct a genetic counseling session for a Schizoprenia patient.
b) Parents with average intelligence may have a child with exceptional intelligence. Is it possible? Justify

our answer. [2.5+2.5] CO4




